QUADRATIC EQUATIONS

Solve:
1 x(x-3)=0 2 (x-2)(x-3)=0 3 x(2x+1)=0
O e 1= 0 @ effr x=2 @ eiffo x=0
orf =23 2x+|l =0 ¢g=0 X= -
of A*=5 B
4 x=7)(2x+5)=0 5 3x(2x-9)=0 6 =-5x{(x+1)=0
el x="F el =0 efor x=0
oF 21_‘_;5“:0 or 2.1-—(;'.:() or :L-_-—-l
40 X = C’/z

4= 1'—"—"5—/‘2
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QUADRATIC EQUATIONS

7 (x-a)(x-b)=0 8 (x-3a)(x+2b)=0
@}lﬁ})\ %= & e x =2a
or =) or %L=-2b
10 (2x—11)(2x+11)=0 11 (x-1)*=0
© el 2x-11=0 <= =11/
ofR 2x +ll =0 &> r=-1/3

» g x=|

@ 22 +2 =0 g=» I = -2 a=>
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9 (x-2)(x+2)=0
eiﬁﬁ,\ x =2

or %==—=2

12 (2x+3)Y=0

% = =20



